Homework

For each function F(x), find F’(x).
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What if M(x) = ffin(x) (2t + 6t%)dt Determine M’(x) by writing an equation for M(x) without

the integrand, then taking its derivatiye.
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2003 SCORING GUIDELINES (Form B)
Question 5 Jus Poh;t n
Let f be a function defined on the closed interval {0,7]. The graph of / 3______

. consisting of four line segments, is shown above. Let g be the
function given by g(z) = fz ) f(t)de.
(a) Find g(3), ¢'(3). and g"(3).
(x‘ 0-rec (b) Find the average rate of change of g on the interval 0 < z £ 3.
5‘(;\"{:6(‘ d (¢) For how many values ¢ where 0 < ¢ < 3, is g'(c) equal to the [7) % 3
average rate found in part (b)? Explain your reasoning. 1 I
3“6( ,? 6() {d) Find the rcoordinate of each point of inflection of the graph of
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